RIR HTARZEALRBEZEYR (FME6EI A 1BHA)

BT % 5 24 (=111 HTT =] 4 (=111
HF # — T H 619 585 1,204 |8 & = T H 1,475 1,474 2,949
F # = T H 1,399 1,273 2,672| | & = T H 2,165 2,151 4,316
5 ¥ = T H 1,769 1,964 3,733| |[## B — T H 828 173 1, 601
7 # T H 1,481 1,659 3,140 [ B = T H 1,089 1, 051 2,140
5 ¥ A T H 939 867 1,806] |8 B = T H 959 887 1, 846
H # < T B 968 981 1,949 | B ® T H 1,039 9717 2,016
B i — T H 1,135 1,124 2,259 |# H #H T H 1, 631 1, 707 3, 338
B 3 = T H 1,373 1,328 2,701 B H X T H 1,455 1,585 3, 040
B i = T H 1,518 1,541 3,009 [## B £ T H 2,004 2,162 4,166
B 3 ® T B 1,790 1,874 3,664/ | H J/\ T H 1,333 1,444 2,777
# ® — T H 2,091 2,062 4,153 |B_— T BH 2,726 2,785 5,511
# ® - T B 2,095 2,162 4,257 |m_= T H 2,042 2,086 4,128
% ®M =T H 1,637 1,708 3,345| |m_= T H 1,397 1,595 2,992
& #H T H 1,542 1, 331 2,873 | X&# B — T H 1,902 1, 881 3, 7183
% ® R T H 1,490 1,317 2,807 |X#&# HZ-TH 904 980 1, 884
% # X T H 1,384 1,367 2, 751 XA#H=TH 1,702 1, 609 3,311
% ® £t T B 1,025 1, 141 2,166] | X # H @ T H 184 106 1,490
# B — T H 973 978 1, 951 XA HATH 1, 657 1,458 3,115
# ® - T H 968 954 1,922 | % — T H 193 851 1,644
# B = T H 1,238 1,292 2,530 |2 % = T H 1,742 1,131 3,479
F & T H 1, 211 1,209 2,420 |'v & — T B 1, 091 1,162 2,253
# B 5 T H 866 852 1,718 |'n & = T H 1, 664 1,574 3, 238
FHEHFE—TEH 537 560 1,097 |[m ®E — T H 606 529 1,135
FEXEHZTEH 603 545 1,148 |/ ¥ = T H 1,026 1, 081 2,107
A& — T H 908 906 1,814 |m ¥+ — T H 1,304 1,185 2,489
A& =T H 131 668 1,399] |[m ¥+ = T H 153 625 1,378
A S =T H 452 421 879] |mm ¥+ = T H 953 813 1,826
A B T H 395 372 767 (&£ B F  H 1,010 890 1,900
A& A T H 212 190 402| |E IR — T H 995 1,095 2,090
A & X T H 42 0 2| I IR = T H 1,254 1,225 2,479
A #®H £ T H 266 212 478] | IR = T H 1,570 1,574 3, 144
A& )N T H 416 415 831 X R T H 1,276 1,300 2,516
A #® A T H 390 337 7271] [3h ® — T H 1,459 1,552 3,011
B & — T H 1,615 1, 664 3.2719] [Bh_ 8 = T H 1,449 1,424 2,873
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RIR HTARZEALRBEZEYR (FME6EI A 1BHA)

BT % 5 24 (=111 HTT =] 4 (=111
I & — T H 1,062 1,213 2,275| |# BB = T H 1,003 910 1,913
i & = T H 1,126 1,158 2,284| | B3 m— T H 858 822 1, 680
I & = T H 1,617 1, 668 3,285| | BAm = T H 672 622 1,294
i db T B 1,834 2,085 3,919 | IR — T H 831 149 1,580
I & &5 T H 274 288 562 | R = T H 2,013 1,894 3, 907
i & X T H 1,181 1,194 2,375| | IR = T H 2,121 2,118 4, 239
I & £ T H 815 799 1,614 |+ & — T H 859 815 1,674
" FAH-TBH 0 0 of |+ & = T H 545 498 1,043
BTAAFE—TH 134 139 1,473 |+ & = T H 817 873 1,690
BTAFE_TH 1,163 1,088 2, 251 F &£ @ T B 941 934 1,875
BTFR/EFB=TH 110 719 1,429 |+ & &= T H 1,176 1,052 2,228
BTAFHETHE 962 952 1,114 [+ & B H 1,684 1,726 3,410
# % — T H 969 980 1,949 |+ & B H 1, 556 1,533 3, 089
# % -~ T H 1,498 1,253 2, 751 FEE-—-TBH 807 139 1, 546
m & — T H 639 558 1,197] | FHE E =T H 1, 608 1, 649 3, 257
m#E = T H 969 536 1,105 |+ & X Ji Hr 1,544 1,467 3,011
m & = T H 499 453 952| |* 4 A [F Hr 1,694 1, 642 3, 336
E & — T §H 425 378 803 |+ & F H 1,439 1, 386 2, 825
EE & - T H 1,263 1,304 2,567 |[FHE#EAKXK—TH 170 8173 1, 643
B & = T H 904 856 1,760 [FHE#KZ=ZTEH 897 1, 031 1,928
B K T H 879 878 1,757 |+ & B E Hr 1,498 1, 629 3,127
B & A T H 860 910 1,770 |+ & # B Hr 879 803 1,682
B & X T B 1,054 1,064 2,118 |[F & & F H 1,168 1, 085 2,253
E & £ T H 962 942 1,904 [+ & 4 HT 1,921 1,816 3, 1317
BE & )\ T H 843 147 1,59 |+ & & F Hr 1,454 1, 456 2,910
E # — T H 867 804 1,671 FEKE—TH 488 495 983
5E # = T H 1,818 1,951 3,769 |[FHEKAZ=TH 912 962 1,874
E 8 = T H 1,127 1, 006 2,133| |FTE®EH=TH 883 175 1, 658
5 # T H 1,362 1,489 2, 851 F & 5 x B 1,003 887 1,890
# B — T H 1,628 1,537 3,165 |+ & & HI 1, 454 1,492 2, 946
)@ B = T H 1,012 1,055 2,067 [F #& # H 166 685 1, 451
% B = T H 3,399 3, 431 6,830 [T & — T B 1, 665 1, 696 3, 361
# BB — T H 334 308 642 |MT D E = T H 1,126 1,083 2,209
# B - T H 141 142 1,489 M o ¥ = T H 1, 360 1,385 2, 745
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RIR HTARZEALRBEZEYR (FME6EI A 1BHA)

BT % 5 24 (=111 HT % =] 4 (=111
W2 TH 582 611 1,193| [E # H# = T H 1,213 1,221 2,434
o A TEH 1,086 1,137 2,223| || HF =T B 1,443 1,449 2, 892
roERTAH m 1,164 2,135| |& % # & T H 1, 705 1, 671 3, 376
o £TBH 616 1117 1,333 (B # H# 2 T B 1,122 1,112 2,234
R & — T H 101 845 1,546 |[BE % H* KX T H 1,503 1, 566 3, 069
kR & = T H MM 834 1,775| (B # # € T B 149 191 1, 540
PREB—TEH 830 920 1,750 | ARE—TEH 2,593 2,750 5, 343
PREBZ=TEH 1, 346 1,472 2,818 |[EHHRE-TRH 100 148 1,448
PREABM=TH 1,123 1,222 2,345 |[EFHARE=TRHE 661 122 1,383
PREABETEH 1,618 1,750 3,368 |[EFHAFE—TH 1,260 1, 351 2,611
PREABATEH 175 834 1,609 |BE#HAFM_TH 1,481 1,572 3, 053
# — T BH 117 96 213| |EHHAEFI=TH 530 581 1,111
# —-— T BH 634 584 1,218] |EHAFHAETH 1,723 1, 7317 3, 460
B M — T B 1,420 1,270 2,690 |EHmAFEAEATH 935 973 1,908
R M = T B 1,320 1, 305 2,625 |BB & B — T B 1,370 1, 306 2,676
B M =T B 2, 065 2,091 4,156| B8 & 8 = T B 808 145 1,553
C ! T H 1,835 1, 851 3,686 |BA B =T B 895 852 1,747
M A T H 1, 856 1,816 3.672| BB F B m T H 671 646 1,317
&= A — T H 815 180 1,595 |88 & B Hr 0 0 0
& A - T H 1,156 1,145 2, 301 B mE—TEH 262 249 511
& A= T H 1,141 1,117 2,258 |#& o £ — T H 292 276 568
& A @ T H 637 588 1,225| BT DE—TEH 131 852 1,583
= AR T H 1, 811 1,738 3,549| |EHMDEZ-TH 486 516 1,002
& AKX T H 185 953 1,738] |[B&RAME—TBH 845 910 1, 755
B JI — T H 1,284 1,334 2,618] [ERAXBM=-TH 1,562 1,542 3,104
B JI = T H 1,040 1,042 2,082 [ERXKXKBM=TH 830 915 1,745
7 JIl = T H 887 899 1,786 [BEARAMEM@TH 1,002 1,076 2,078
oLl T H 1,882 1,857 3,739 [ — T H 819 819 1,638
f JI A T H 468 398 ge6| |€ M = T H 693 130 1,423
M #E—TH 535 481 1,016] [ @ = T BH 1,138 1,029 2,167
H&E#E_-TBH 1,268 1,285 2,553] |14 T H 1,034 1,125 2,159
mEE=TBH 1,39 1,479 2,873 |i€ M H T H 1, 459 1,379 2,838
B T H 518 523 1,041 |78 8 X T B 1,126 1,087 2,213
A —TEH 1,168 1,218 2,386 |[fE_ M £ T H 480 471 951
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RIR ETTHRZEAZEEHZEH (FHM6F3A 1 BRE)

BT % 5 24 (=111 HT % 5 24 =111

€ M J\. T B 684 835 1,619 |~ & — T H 1,249 1,289 2,538
K& #E—TBH 1,843 1,775 3,618] |8 XK = T H 442 410 852
K& _-TBH 1,453 1,495 2,948 |’ XK = T H 1,224 1,229 2,453
K& #E=TE8H 996 966 1,962] |7~ K T H 689 673 1, 362
RFEFHR-—-TBH 825 805 1,630 [ X — T H 667 676 1,343
EFR_-TRH 826 121 1,547] |&# XK = T H 861 861 1,722
RFEHR=THEBH 1,199 1,148 2,347 [ KX =® M 680 625 1, 305
KR T H 189 175 64| |&__AKX B H 457 463 920
EARAXEB—TEH 1,314 1,451 2,765| |&A AKX ®EB H 123 625 1,348
KREAXBEB=TH 972 923 1,895 |& AKX J H 581 592 1,173
B X A m 102 151 1,453| A X — T H 831 841 1,672
— Y R-—THBH 143 697 1,440 B E X - T B 632 663 1,295
— YR Z-TBH 1,168 1,203 2,31 *#HEZX=THEH 983 985 1,968
— YR=TH 828 837 1,665 |&# % — T H 1,579 1,455 3, 034
— YR T H 293 271 570| |&# % = T H 783 158 1, 541
B / W 1,730 1,695 3,425 |&# % = T H 970 938 1,908
¥ % — T H 162 819 1, 581 # ® W T H 820 127 1,547
* % = T H 428 407 83| |&# % H T H 182 692 1,474
¥ % = T H 812 850 1,662 | R — T BH 1,098 1,062 2,160
RfRAM-—TBH 1,820 1,909 3,729 M K = T H 1,159 1,092 2, 251
K AM=-THEH 968 937 1,905 |x A — T EH 1,137 1, 311 2,448
fRAM=TEBH 1,083 1,005 2,08 |~ A = T H 1,218 1,385 2,603
&R KX M TR 1,139 1,115 2,254 |x A = T H 169 123 1,492
R ABE AT H 1,244 1,258 2,502| |7~ BT — T H 1,109 1,101 2,210
&R 3 il 1,461 1,380 2, 841 XN B = T H 373 419 192
B2 KA —TBH 221 217 444 |~ BT = T H 121 152 1,473
B 2R Z=-TH 311 313 624] |~ _ BT @ T H 909 945 1,054
mIEM—TBH 935 945 1,880] |B i X & & 285,207| 285,246 570,453
mIEMSM_-TAEH 1, 860 1,714 3,574 2 9 K & & 91, 382 91,570| 182,952
MM =TH 1,426 1,335 2, 161 1 3 K & & 193,825 193,676/ 387, 501
MmMEMETAH 1, 211 1,300 2,511

MM A TH 1,015 1,216 2, 231

= %W — T H 1,487 1,457 2,944

= B = T B 198 178 376

E Tz o 4/4



